<BE>
1 FERSCLEOHHE

0.2
4,287.8___

(BfI:t—CO,)

2 RETKEZEDHHE

oa.3 %001

1,257.4

(8f1:t—CO,)
3 HHEZFDH®

EIRILF—EHEICHESHE
mKANIE (S HEH
SEIRBERN S HEH

ZDfth

= ) BFRETKE

BRI T KE

= ERERE T KE
HIhiRRg T kE
REN LR TKE

120000

54000

110913 ooo 110615

110686

>2000 103650 110000
102144 EIM
10175

A%fi/" - 100000
47323
90000
44753
- 80000
3605 43373 ..., 43574 43500

HHE1r-co2)

i~ =y i~y w
& 8 &8 8
S 8 8 8

42000

40000

38000
H17 H18 H19 H20 H21 H22

e HEHE(EC02) ==--- E 25 F EHE E(t-c02)

60000

quFE i
m
H26

MK E(Fm3)

H23 H24 H25

7k E(Fm3)

XEAPHFRE (0. 450kg-C02/kh) #—E & LTHEH




